

Project **Dignity Dignity** Learn **Dignity** Kitchen™ **Dignity** Mama **Dignity** Outreach

> An all-in-one platform for you to experience local food and engage in a positive social impact at the same time.

At the heart of our business is our approach to restoring dignity to the differently-abled and the disadvantaged through skills training and job placement, employment and integration.

Dignity Outreach



Singapore's "hawker culture" is now on the Unesco list of Intangible Cultural Heritages of Humanity. At Project Dignity we combine our passion for hawker food and the power of engaging the community to bring you several uniquely Singaporean experiences:

- Learn with Lunch & Outreach
- Learning Journey & Outreach
- Culinary Experience & Outreach
- Meaningful Makan Teambonding
- Cook, Bake & Serve

Held at Dignity Kitchen[™] at Boon Keng, our hawker-focused programmes encourage interaction with Singapore's differently-abled community as well as a platform for Corporate Social Responsibity (CSR) activities which include teambonding, creating awareness of workplace inclusion, social entrepreneurship and innovation.

Learn with Lunch & Outreach

Minimum : 10 Pax Maximum: 30 pax 1.00pm – 5pm Weekdays Only











Programme Outline

- 1.00pm Arrival of Participants
 - Followed by Lunch from Food Court Stalls
- **2.00pm** Sharing Presentation by Project Dignity
- 2.30pm Introduction to Basic Sign Language
 - Group Activity
 - Beverage Break with Kopi/Teh
- 3.30 pm Assist Bento Meal packing
- 4.00pm Distribute meals to nearby Residents at
 - Dignity Kitchen (Time is Fixed)
- 4.30pm Reflection / Q & A
- 5.00pm Farewell & Departure

Total Cost includes Component #1 & #2

#1. Cost per participant: \$28

Includes Lunch & 2 Drinks for each sponsor participant and 2 Learning Experiences

#2. Sponsorship of 100 Bento Meals for nearby Residents @ \$5 per meal = \$500

For example :

20 participants x \$30.52 = \$610.40 + \$500 Sponsorship Total cost = \$1110.40 (includes GST fees) (9% GST is charged on the participant fee only)







Learning Journey & Outreach

Minimum : 40 Pax Maximum: 60 pax 1.00pm – 5pm Weekdays Only

Project **Dignity**













- 1.00pm Arrival of Participants
 - Sharing Presentation by Project Dignity
- 2.00pm Introduction to Basic Sign Language
 - Preparation of Wonton for Bento Meal
- 3.30 pm Assist Bento Meal packing (Group 1)
- Group 2 Beverage Break
- 4.00pm Distribute meals to nearby Residents at
 - Dignity Kitchen (Time is Fixed) (Group 2)
 - Group 1 Beverage Break
- 4.30pm Reflection / Q & A
- 5.00pm Farewell & Departure

Cost per participant : \$38 (\$41.42 Incl. GST) : Includes beverage for each sponsor participant and Sponsorship of 100 Bento Meals for nearby Residents



Culinary Experience & Outreach

Minimum : 15 Pax Maximum: 30 pax 12.30pm – 5pm Weekdays Only















Project **Dignity**

Programme Outline

- 12.30pm Arrival of Participants
- Demonstration of dishes for a Themed Set Meal prepared by Chef Trainers assisted by Special Needs Kitchen Staff followed by Lunch
- Sharing Presentation

Introduction to Basic Sign Language

- Beverage Break Kopi & Teh
- 3.30 pm Assist Bento Meal packing
- Distribute meals to nearby Residents at Dignity Kitchen
- **4.30pm** Reflection / Q & A
- **5.00pm** Farewell & Departure •

Total Cost includes Component #1 & #2

#1. Cost per participant : \$68

Includes Premium 3-course Set Lunch (Recipes provided) & 2 Drinks for each sponsor participant /Dignity Apron

#2. Sponsorship of 100 Bento Meals for nearby Residents @ \$5 per meal = \$500

For example :

20 participants x \$74.12 = \$1482.40 + \$500 Sponsorship Total cost = \$1982.40 (includes GST fees) (9% GST is charged on the participant fee only)

Meaningful Makan Teambonding

Minimum : 10 Pax Maximum: 30 pax 2.00pm - 4.30pm Weekdays Only













Programme Outline

- 2.00pm Arrival of participants
- Sharing Presentation Introduction to Basic Sign Language
- Hygiene Briefing and distribution of Hairnets, Aprons & Disposable Gloves

Food Preparation Session

Preparation of 2 dishes - Rojak and Butter Cookies* together with a Special Needs Trainee

High Tea Makan Time

Participants will enjoy the dishes prepared together with Muffins and a Drink during the High tea

4.30pm - Session ends with Reflection / Q & A
 Option to sponsor 100 Bento Meal treat for nearby residents at \$5 per meal that will be packed and distributed by the group.

Cost per participant : \$48 (before GST) Includes Dignity Apron Souvenir / Hairnet and Gloves All ingredients for preparation of 2 dishes Refreshments <u>Cost example :</u> 20 participants x \$52.32 (with GST) = \$1046.40

* Subject to change

Cook, Bake & Serve (CBS)

Minimum : 10 Pax Maximum: 30 pax 1.30pm – 5pm Weekdays Only









Programme Outline

- 1.30pm Arrival of participants
- Sharing Presentation
 Introduction to Basic Sign Language
- Hygiene Briefing and distribution of Hairnets, Aprons & Disposable Gloves
- Groups will be divided into 2 teams for food preparation *Food Preparation Session*

Preparation of 2 dishes - Rojak and Butter Cookies*

- 3.30pm Arrival of Seniors for High Tea Makan
- Participants will serve and dine with Elderly Group followed by Karaoke Session
- Participants will distribute Cookie Packs to elderly group
- 4.30pm Departure of Seniors
- Session ends with Reflection / Q & A for all participants

Total Cost includes Component #1 & #2

#1. Cost per participant : \$58 (before GST)

Includes Dignity Apron Souvenir / Hairnet and Gloves + Exclusive Dignity No.6 Perfume

All ingredients for preparation of 2 dishes

#2. Cost of Sponsorship @ \$20 x 30 Seniors: \$600 (No GST)

Hi – Tea Refreshments+ Hot Beverage + Light Meal (Takeaway) + Transport 2way Bus Charter for Elderly Group

Facilitation by Operations Special Needs Staff and Events Team

<u>Cost example</u> : 20 participants x \$63.22 = \$1264.40 + \$600 Sponsorship Total cost = \$1864.40

(GST is charged on the participant fee only)

* Subject to change

Contact Us

Events Enquiries Call or WhatsApp: +65 9853 9086 Email: events02@projectdignity.sg For more information visit https://projectdignity.sg

